BIOL 100

Quiz 4
1.  After telophase I of meiosis, the chromosomal makeup of each daughter cell is 


A) diploid, and the chromosomes are each composed of a single chromatid 


B) diploid, and the chromosomes are each composed of two sister chromatids 


C) haploid, and the chromosomes are each composed of a single chromatid 


D) haploid, and the chromosomes are each composed of two sister chromatids 


E) tetraploid, and the chromosomes are each composed of two sister chromatids
For the following questions (2-4), match the event of meiosis with the stages below.
I.
Prophase I
V.
Prophase II

II.
Metaphase I
VI.
Metaphase II

III.
Anaphase I
VII.
Anaphase II

IV.
Telophase I
VIII.
Telophase II

2.  Homologous pairs of chromosomes are aligned at the equator of the spindle; alignment determines independent assortment. 


A) I 


B) II 


C) IV 


D) VII 


E) VIII
3.  Synapsis of homologous pairs occurs; crossing over may occur. 


A) I 


B) II 


C) IV 


D) VI 


E) VII 

4.  Centromeres of sister chromatids disjoin and chromatids separate. 


A) II 


B) III 


C) IV 


D) V 


E) VII

5.  Which of the following occurs in meiosis but not in mitosis? 


A) Chromosome replication 


B) Synapsis of chromosomes 


C) Production of daughter cells 


D) Alignment of chromosomes at the equator 


E) Condensation of chromatin
6.  Chiasmata (more than one chiasma) are what we see under a microscope that let us 
know which of the following is occurring? 


A) Asexual reproduction 


B) Meiosis II 


C) Anaphase II 


D) Crossing over 


E) Separation of homologs
7. Which is a way sexual reproduction increases the genetic variation in a species? 


A) By allowing independent assortment of chromosomes 


B) By allowing fertilization 


C) By increasing gene stability 


D) By conserving chromosomal gene order 


E) By decreasing mutation frequency
8.  When pairs of homologous chromosomes separate during anaphase I, 


A) the maternal chromosomes all move to the same daughter cell. 


B) the sister chromatids remain attached to one another. 


C) recombination is not yet complete. 


D) the synaptonemal complex is visible under the light microscope
9.  How many rounds of division occur in meiosis?

A) 1
B) 2

C) 3

D) 4

10.  One round of Meiosis produces how many daughter cells?

A) 1

B) 2

C) 3

D) 4

11.  What is a mechanism that provides genetic diversity in gametes?

A) Rate of DNA replication

B) Duration of G1

C) Crossing over

D) Chromosomal packaging into heterochromatin

12.  In meiosis, how many times is DNA replicated?

A) 1

B) 2

C) 3

D) 4

13.  What kinds of cells are capable of undergoing meiosis?

A) All cells
B) Germ cells

C) Somatic cells

D) No cells

14.  Which below is a location in the body where the cells that perform meiosis are found?

A) Brain

B) Bone

C) Ovaries

D) Kidneys

15.  A mutation occurs in a cell in your liver. Will that mutation be passed to your offspring?

A) Yes

B) No
